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dimension f(3,8000)
open(10,file='T:¥airmag-db¥indata_al_utm.txt')
open(30,file="T:¥airmag-db¥chkget.txt"
xxmn=626.1543
xxmx=744.533
yymn=4539.8406
yymx=4765.1829
aa=(yymx-yymn)/(xxmx-xxmn)
bb=yymn-xxmn*aa
write(6,*) aa,bb
nn=0
100 continue

read(10,*,end=99) ai, aj, dat



yy=ai*aa+bb
c write(6,*) ai,aj,yy

if(aj.ge.yy-0.1 .and. aj.le.yy+0.1) then
nn=nn+1
f(1,nn)=ai
f(2,nn)=aj
f(3,nn)=dat
dd=sqrt((ai-xxmn)*(ai-xxmn)+(aj-yymn)*(aj-yymn))

write(30,%) nn, dd, f(2,nn), f(1,nn), f(3,nn)
end if
go to 100

99 continue
close(10)

close(30)

nd=nn

write(6,*) 'in data: nd ',nd

stop

end
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